Pole Mount Adaptor

SBP-302PM
SBP-303PM

X

@ Hanwha Vision

Package

S5

STAINLESS SCREW
(M5 X L20) 4EA

=

@

\_/

POLE MOUNT ADAPTOR

STAINLESS STEEL
MOUNT STRAP

PT01-004610E

Product Overview

G This product is an adaptor used to mount a BULLET or THERMAL
CAMERA to a cylinder of at least 80 mm.

m
=

©
> b >

Ce produit est un adaptateur qui sert a installer une CAMERA DE TYPE

F BULLET ou une CAMERA THERMIQUE sur un cylindre d’au moins 80 mm.

By

E Dieses Produkt ist ein Adapter, der zur Befestigung einer BULLET- oder

PA Este producto es un adaptador utilizado para montar un BULLET o
CAMARA TERMICA en un cilindro de al menos 80 mm.

)

Questo prodotto € un adattatore utilizzato per montare una TELECAMERA
A PROIETTILE o TERMICA su un cilindro di almeno 80 mm.

T

RUS [laHHoe n3nenve npefcTaBnAeT cobol agantep AA yCTaHOBKM
LUMNMHAOPUYECKOW nan TEMNOBM3MOHHOWM KAMEPbI B unnanHape
pa3mepom He meHee 80 MMm.

POL Produkt ten jest adapterem uzywanym do zamontowania KAMERY TYPU
BULLET lub TERMALNEJ do cylindra min. 80 mm.

TUR Bu (riin, en az 80 mm’lik bir silindire bir KOVAN GOVDELI veya TERMAL
KAMERA monte etmek igin kullanilan bir adaptordir.

Adaptér se pouziva k upevnéni VALECKOVE nebo TERMALNI KAMERY k
Valci o prdméru nejméné 80 mm.

o N

=

ABRIE80mmEL_EDFPFEITBULLETE 7z IETHERMAL CAMERAE S5 B
I B fER T HADAPTORTY,

ANFE G T tE80mmL kY [El4E R $BULLETSX THERMAL CAMERA{SE F 9
ADAPTOR.

A

PeER = FIE2 80mm O0]4te] 27|50 BULLET &= THERMAL CAMERAS
K|St s A+ SH= ADAPTORYILICE

Installation Precautions

THERMO-KAMERA an einem Zylinder mit mindestens 80 mm verwendet wird.

Install this product in a place that can withstand at least 4 times the combined
weight of the pole mount adaptor and camera.

Each screw installed should withstand tensile strength of 200kg.

If installing outdoors, use fasteners made of stainless steel.

This product is designed to use M5 machine screws.

Installer ce produit a un endroit qui peut supporter au moins 4 fois le poids associé
de I'adaptateur sur poteau et la caméra.

Chagque vis installée doit supporter la résistance a la tension de 200 kg.

Si I'installation s’effectue a I'extérieur, utiliser des attaches en acier inoxydable.

Ce produit est congu pour fonctionner avec la vis a métaux M5.

Montieren Sie dieses Produkt an einem Ort, der mindestens das Vierfaches des
Gewichts aus Adapter fUr die Mastmontage und der Kamera standhalt.
Jede montierte Schraube sollte eine Zugfestigkeit von 200 g aushalten.

Das Produkt wurde konzipiert, M5 Maschinenschrauben zu verwenden.

Falls im Innenbereich montiert wird, Befestigungselemente aus Edelstahl verwenden.

Instale este producto en un lugar que pueda resistir al menos 4 veces el peso
combinado del adaptador de montaje en poste y la camara.

Cada uno de los tornillos instalados debe resistir una fuerza de tension de 200 kg.
Si se instala en exteriores, use fijaciones de acero inoxidable.

Este producto esta disefiado para usar tornillos para metales M5.

Installare la telecamera in una postazione nella quale sia in grado di supportare 4
volte il peso combinato dell’adattatore montato sul pilastro e della telecamera.
Ogni vite inserita deve avere una resistenza elastica pari a 200kg.

Se l'installazione avviene in uno spazio esterno, usare viti in acciaio inossidabile.
Usare viti di ferro M5.

YcraHasnvBante 3Ty [eTalb B MeCTe, KOTOPOe MOXET BblAePXNBaTb HE MeHee
4-KpaTHOro o6u.1ero BeCa aflantepa AnA MOHTaXa Ha CTOWKe U Kamepebl.

= Bce yCTaHOBOYUHBIE BUHTbI JOMKHBI UMETb MPefen MPOYHOCTU Ha paspbis 200 Kr.

MpW ycTaHOBKe BHE MOMELLEHUA UCMONb3YATE KPENEeXHbIE SNeMEHTH 13
HepaBeloLen cranu.
[laHHas feTanb paccymTaHa Ha NpYMEHeHNe KpenexHbX BUHTOB M5.

Ten produkt nalezy montowa¢ w miejscu, ktére jest w stanie utrzymac co najmniej
czterokrotnie wigkszy ciezar niz faczny cigzar adaptera kolumnowego i kamery.
Kazdy wkret uzyty do montazu powinien mie¢ wytrzymato$¢ na rozciaganie rzedu
200 kg.

W przypadku montazu na zewnatrz budynkdw nalezy uzy¢ elementéw mocujacych
ze stali nierdzewne;.

Ten produkt mozna montowaé przy uzyciu wkretow maszynowych M5.

Bu Urlint, Montaj diredi adaptéri ve kameranin agirliklarinin toplaminin 4 katina kadar
agiriga dayanabilen bir yere kurun.

Kurulumda kullanilan her vida 200 kg gerilim kuvvetine dayanmalidir.

Dis ortama kuruluyorsa, gelik civatalar kullanin.

Bu Urtin, M5 makine vidasi kullanmak Uzere tasarlanmistir.

Instalujte jej na misto, které unese alespon ¢tyfnasobek spoleéné hmotnosti
adaptéru pro montaz na sloupek a kamery.

Kazdy instalovany Sroub musi odolat pevnosti v tahu 200 kg.

Pri venkovni instalaci pouzivejte upevrovaci prvky vyrobené z nerezové oceli.
Tento produkt je uréen pro pouziti se Srouby M5.

$%§];&§/§:} VROV T ETREAASDBHERDMEULITTHZ SN BB
B o

T e BRI, 200kgDIRAIC TR A BAED BV E T,

BINCEWNIFIHE AT VL ARBD T 7 A+ = EALETY,

FEBIEMERR CEERTEDL IR TN TVET,

BAERREARBEAZED 4 FTAARREEFMBEIDEBNME.
RENBTIRLYDLMEBET 200 FrRMTARE.

MRETESN, BERATERREZE S

R, AERFEER W5 NARL.

2|47t POLE MOUNT ADAPTOR, CAMERA £Z2k9| 48 0|M4 8 223| AE
& Qe RO HR|StHL.

M2 9l Ztzto] A38&= 200KgQ| 0] AC|0fOF FHL|CE,

S2l0f H2[A| HZZE AE|QAA RS ALESIMIL.

O &2 M52 MACHINE SCREWE AI23I=2 HA| /0] QELICE



Installation

Product Outline

1 Select a pole to install and confirm the installation height.

2 Use the Stainless Steel Mounting Strap to secure the Pole Mount

VIEW A
Adaptor to the pole. VIEW B % g
3 Insert the cables through the Pole Mount Adaptor.
4-M5xP0.8 PEM NUT
C.‘ —~ CAULKING
4 Use the provided Screws, to mount the WALL MOUNT onto the product. 8 &,
= For more information, refer to the user manual of camera. MJ%TL
|
(140)
- © o
@ ©
M5 x 20 SCREW 4EA
WALL MOUNT
©]) ©
VIEW B VIEW A
e &
Stainless Steel 4% )\E
Mounting Strap / o
Pole Mount Adaptor KJ g
—o—
83 :0.5

83.5 10.5

166 ¢!

mm(inch)

Product Specifications

» Weight : 1300g

« Material : Steel

« Operation temp. : -50°C~60°C
« Operation hum. : 0~100%

« Cigzar : 1300g
« Materiat : Stal

« Temperatura robocza : -50°C~60°C

» Wilgotno$¢ robocza : 0~100%

« Poids : 1300g

» Matériau : Acier

» Température de fonctionnement :
-50°C~60°C

« Humidité de fonctionnement : 0~100%

« Adirlik : 1300g

* Malzeme : Celik

« Calisma sicakligi : -50°C~60°C
« Calisma nem degeri : 0~100%

» Gewicht : 1300g

« Material : Stahl

« Betriebstemperatur : -50°C~60°C
« Betriebsluftfeuchte : 0~100%

« Hmotnost : 1300g

« Material : Ocel

« Provozni teplota : -50°C~60°C
« Provozni vihkost : 0~100%

* Peso : 1300g

« Material : Acero

« Temp. funcionamiento : -50°C~60°C
« Hum. funcionamiento. : 0~100%

« E&: 13009

B AF—IV

« BIERE : -50°C~60°C
« BIEEE : 0~100%

* Peso : 1300g

« Materiale : Acciaio

« Temperatura di esercizio : -50°C~60°C
« Umidita di esercizio : 0~100%

« E& :1300g
LR

o T{EIRE : -50°C~60°C
« TIEEE : 0~100%

« Bec: 1300g

* Matepuan : Ctanb

« Temnepatypa npw pa6orte : -50°C~60°C
« BnaxHocTtb npu patote : 0~100%

« 27 : 1300g

o 212 : Steel

o AF 2% : -500~60T
o AL2 & & : 0~100%




